GIVING

$250,000

EXAMPLE:

4"\ AVERAGE INTEREST

§ 0.06% §

%! RATE 0.06%

3RD YEAR =

30TH YEAR =

Vi
§0% 8 MARKET CONTROL
Yo

Vs

0% 8 CONTROL VALUE
Yo’

™™ ABILITY TO

0% 8 INCREASE YOUR

- CASHFLOW

Money in a bank should only
be used to buy real .

investments or pay 0
g S NN

other expenses
L1

needed in order to M

generate a positive
CashFlow.

\__ SSVIDTTdAdIN

Means the bank becomes
wealthier, and their clients

are only left with
liabilities.
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DOWN PAYMENT

EXAMPLE:
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Means the bank becomes
DRASTICALLY wealthier, and
the clients are only left
with liabilities DISGUISED as
Assets.
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$ 10,000,000
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Means the clients become
wealthy and HAVE ASSETS
that create the liabilities for
the rest of the misinformed

people.



